Please solve problems as simply as possible with step by step solution without skipping steps and give answer.  Note, some answers are given to confirm.  Explain answers.  
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What is the position at this time?

Tries 0/99
wer for Part: 11

-7.00 [-6.78787878787879,—7.21212121212121]

Unit: m/s

Answer for Part: 13

true

nswer for Part: 15

A
7.00 [6. 78787878787879,7 21212121212121]

Unit: m/s
Answer for Part: 17

true

nswer for Part: 19

A
5.17 [2.1010101010 101,2. 23232323232324]

Unit: s

nswer for Part: 21

A
-1.01E+01 [-9. 77777777777774,-10. 3888888888889

(hrwe2p112) An automobile increases its speed uniformly
from 28 km/h to 62 km/h in 056 min. A bicycle rider
uniformly speeds up to 35 km/h from rest in 0.56 min. Cal-
culate the acceleration of the automobile.

Tries 0/99

Calculate the acceleration of the bicycle rider.

Tries 0/99

Unit: m/s"2
Answer for Part: 13

2.89E-01 [0 280583613916947,0. 208120089786757]

-

J. Hall - PHYS 211
HW1

(hrwc2p106) A high-performance jet plane, practicing radar
avoidance maneuvers, is in horizontal flight 45.0 m above the
level ground. Suddenly, the plane encounters terrain that
slopes gently upward at 5.307, an amount difficult to detect
(see the figure). How much time does the pilot have to make
a correction to avoid flying into the ground ( s)? The speed
of the plane is 1350 km/h.

An le &p@_ .

Tries 0/99

nswer for Part: 0

1.29 [1. 25436297775442, 1 .33276066386408]

(hrwe2p42) A startled armadillo leaps upward (see the fig-
ure), rising 0.524 m in 0.190 s. What was its initial speed?

o

Tries 0/99
What is its speed at this height?

Tries 0/99
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How much higher does it go?

Tries 0/99

Answer for Part: 11
3.69 [3.57711004784689,3.80067942583733]
Unit: m/s
Answer for Part: 13
1.83 {1.77153429027114,1.88225518341308]
Unit: m/s
Answer for Part: 15
1.70E-01 [0.16512278933835,0.175442963671996]
Unit: m

(hrwe2p64) Two trains, one traveling at 72.00 km/h and the
other at 144.00 km/h, are headed toward one another along
a straight, level track. When they are 934 m apart, each
engineer sees the other’s train and applies the brakes. The
brakes decelerate each train at the rate of 1.0 m/s2. Is there
a collision?

A. NO
B. YES

Tries 0/99

What distance do the trains need to allow between them to
stop at this acceleration?

K | |
}CE Tries 0/99
or What acceleration do the two trains need to have to stop
thi exactly in a distance of 934 m?
| |

A Tries 0/99

B Answer for Part: 11

C. false
D. true
3 Answer for Part: 13
. 1.00E+03 [969.69696969697,1030.30303030303]

) Unit: m
s Answer for Part: 16

— 1.07 [1.03821945363701,1.10310816948933]

d Unit: m/s"2

- A car travels a certain distance along a straight road (in the
- +x direction). The distance the car travels as a function of
— time is shown in the figure below. When the car changes
— speed it does so uniformly.

Select the appropriate choice for each statement.
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Choices: True, False, Greater than, Less than,
Equal to.
A. The speed at 70 sec is ..... the speed at 48 sec.
B. At 7 sec, the speed is as high as it gets.
C. The x-acceleration is ..... zero at 67 sec .
D. The acceleration magnitude at 36 sec is ..... the accel-
eration magnitude at 15 sec.
E. The speed is ..... zero at 20 sec.
F. The x-acceleration is ..... zero at 15 sec.
Tries 0/99

Using the graph above, calculate the average speed of the car
for the period from 0 to 60.0 s

L |

Tries 0/99

Answer for Part: 11
Less than
False
Equal to
Less than

Equal to

Less than

Answer for Part: 13

1.61E+01 [15.456,16.744] Sig 3 - 5

Unit: m/s
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/ What is the greatest height reached by the ball?
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The graph above shows the position of a car, in meters, mea-
sured from a stoplight after the light turns green. Calculate
the average speed of the car during the period from t = 0.0 s
tot = 26.0s.

Tries 0/99

Tries 0/99

Calculate the first time where the ball has half of its initial
velocity.

|

Tries 0/99

Answer for Part: 16

5.51 [6.4,5.6204081632653] Sig 3 - 5

Unit: s

Answer for Part: 17

3.72E+01 [36.45,37.9377551020408] Sig 3 -~ 5

Unit: m

Answer for Part: 18

1.38 [1.34862385321101,1.40366972477065] Sig 3 - 5
Unit: s

Answer for Part: 0

A dtone is thrown vertically upward at a speed of 35.80 m/s

1.101E+01 [10.5147665836054,11.5056869946258] Sig 3 - f time t=0. A second stone is thrown upward with the same

Unit: m/s

speed 2.660 seconds later. At what time are the two stones

<

<
o
i
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The Graph above shows the speed of a car traveling in a
straight line as a function of time. The value of V. is 4.20
m/s and the value of Vy is 5.30 m/s Calculate the distance
traveled by the car from a time of 1.20 to 5.20 seconds.

L ]

Tries 0/99

0

Answer for Part: 0
1.81E+01 [17.7576,18.4824]) Sig 3 - 5
Unit: m

A ball is thrown vertically upwards with an initial velocity of
27.0 m/s. Neglecting air resistance, how long is the ball in

the air?

Tries 0/99

at the same height?

Tries 0/99

At what height do the two stones pass each other?

Tries 0/99

What is the downward speed of the first stone as they pass
each other?

| |

Tries 0/99

Answer for Part: 11

4.979 [4.95444072375127,5.00423409786933] Sig 3 - 5
Unit: s
Answer for Part: 13
5.665E+01 [55.7969848761137,57.4963854307161] Sig 3 - &
Unit: m
Answer for Part: 15

1.305E+01 [12.8515905,13.2430095] Sig 3 - 6

Unit: m/s





